CONTRACT NO. BOAL1

DISTRICT ONE DESIGN PLAN PREPARATION ENGINEER:

KEN ENG (847) 705-424T7

F.A I, TOTAL | SHEET
[RTE.'| SECTION COUNTY  |gHEETS! ND.
55 2005-040 GRR WILL 18 1

6-16-06 Letting, Item 174 stare o iumos

DEPARTMENT OF TRANSPORTATION
DIVISION OF HIGHWAYS

FOR INDEX OF SHEETS, SEE SHEET NO.2 PLANS FOR PRO POSED
g?li;ggRgF E(I;AIEAI\TNAHON INA WILL COTITNTY HIG HW AY
FAl 55 : (INTERSTATE 55)
(US 6 TO SOUTH OF I-80)
SECTION: 2005-040 GRR
HIGH TENSION CABLE GUARDRAIL
PROJECT: HS-055-6(217)250
WILL COUNTY

C-91-272-05

LOCATION OF SECTION INDICATED THUS:- g

IMPROVEMENT

ENDS: STA. 164+50 \

»— -2

=z
)
M
- STATE OF ILLINOIS
DEPARTMENT OF TRANSPORTATION
. . " . DIVISION - OF HIGHWAYS
100° 200 300 —1"= 100
0 18" 20 0 —1= W
50 1007 § ' TRAFFIC DATA SUBMITTED MM >9 20 ©6
50° 100 = S Dane M- O’ Sl
— = & S gt ADT = 40,000 - 60,000 DEPUTY DIRECTOR OF HIGHWAYS, REGION ENGINEER
E;!Ei!ﬂi“':‘;"_'ﬁiﬁo— r= ‘\ POSTED SPEED LIMIT= 65 MPH Mo, 12, 20 06
, wo IMPROVEMENT BAY S : e N .
S R e . T BEGINS: STA. 75+00 | CHANRAHOY, ) 18 T ENGINEER OF DESIGN AND ENVIRONMENT
FULL SIZE PLANS HAVE BEEN PREPARED USING STANDARD 2 2
ENGINEERING - SCALES. REDUCED SIZED PLANS WILL NOT T — 0006
CONFORM TO STANDARD SCALES. IN MAKING MEASUREMENTS M (S, ﬂfw /,@ o
ON REDUGED PLANS, THE ABOVE SCALES MAY BE USED. TROY TOWNSHIP DIRECTOR OF RIGHWAYS, CHIEF ENGINEER
JULILE.
JOINT UTILITY LOCATION INFORMATION FOR EXCAVATION
1-800-892-0123 GROSS LENGTH OF IMPROVEMENT = 8950 LINEAL FEET = 1.7 MILES PRINTED BY THE AUTHORITY
NET LENGTH OF IMPROVEMENT = 8354 LINEAL FEET = 1.58 MILES OF THE STATE OF ILLINOIS

CONTRACT NO. 60A11




INDEX OF SHEETS

INDEX OF SHEETS, STANDARDS,

SUMMARY. OF QUANTITIES

SCHEDULE OF QUANTATIES

EXISTING AND. PROPOSED ROADWAY PLAN

TRAFFIC CONTROL FOR FREWAY" SHOULDER
CLOSURES. PARTIAL RAMP CLOSURES

SHEET NO. DESCRIPTION
1 COVER SHEET
2
AND GENERAL NOTES
3
4
5 TYPICAL - SECTIONS
6-12
13
14-18

HIGH TENSION GUARDRAIL DETAILS

STANDARD NO.

LIST OF STATE STANDARDS

DESCRIPTION

701101-0
701400-02
701401- 03

T702001-06

OFF-RD OPERATIONS, MULTILANE LESS THAN 4.5 M (15 AWAY FOR SPEEDS > 45 MPH
APPROACH TO LANE CLOSURE, FREEWAY/EXPRESSWAY
LANE CLOSURE, FREEWAY/EXPRESSWAY

TRAFFIC CONTROL DEVICES

1.

FAL|  secTion COUNTY | JOTAL |SHEET

RTE. SHEETS
55 | 2005-040 GRR WILL 18 2
STA. TO STA.

FED, ROAD DIST. M0. 1 [lLLINOIS[ FED. AID PROJECT

CONTRACT  60AIY

PLAN NOTES

BEFORE STARTING ANY EXCAVATION, THE CONTRACTOR SHALL CALL “JULIE” AT
(800)892-0123 FOR FIELD LOCATIONS OF BURIED ELECTRIC, TELEPHONE AND GAS
FACILITIES. (48 HOURS NOTIFICATION IS REQUIRED.

THE CONTRACTOR SHALL COORDINATE CONSTRUCTION ACTIVITIES WITH UTILITY COMPANIES.

THE CONTRACTOR WILL NOT BE ALLOWED TO SET UP A YARD OR FIELD OFFICE ON STATE
PROPERTY WITHOUT WRITTEN PERMISSION FROM THE DEPARTMENT.

THE CONTRACTOR SHALL CALL STATE ELECTRICAL CONTRACTOR AT (773) 287-7600 TO LOCATE
STATE OWNED FACILITIES,

THE CONTRACTOR SHALL WORK IN THE DIRECTION OF TRAFFIC.

THE CONTRACTOR WILL NOT BE ALLOWED TO STORE MATERIALS OVERNIGHT IN THE MEDIAN.

REVISIONS ST ILLINOIS DEPARTMENT OF TRANSPORTATION

NAME
INTERSTATE 55
INDEX  OF SHEETS
LIST OF STATE STANDARDS
PLAN NOTES
VERT.

: + NONE .
SCALE: HORIZ. DRAWN BY: HMO

DATE CHECKED BY:

3/30/2006

c:BprojectsBdl272058sht_i-55c¢c~2.m32
VI%gD7 & &




F.A.L

A SECTION COUNTY | guars | S
55 2005-040 GRR WILL 18 3
FED. ROAD DIST. NO. 1 ILLINOIS HIGHWAY PROJECT
D-91-272~05 CONTRACT 60A11
SUMMARY OF QUANTITIES I CONSTRUCTION. TYPE CODE SUMMARY OF QUANTITIES CONSTRUCTION TYPE CODE
- IOFSTATE
TOTAL /URBiLATE TOTAL
CODE NO ITEM UNIT QUANTITIES CODE NO ITEM UNIT QUANTITIES
SFTY-3J
X032533%4- | HIGH TENSION CABLE GUARDRAIL FOOT eay7 8047
R Gt TN D Moo R DR ettt =
X0325333 | HIGH TENSION CABLE GUARDRAIL TERMINAL EACH &
25000750 | MOWING ACRE 1.92
-~
67000400 | ENGINEER'S FIELD OFFICE, TYPE A CAL MO 3 3 -
67100100 |'MOBILIZATION L SUM 1 1
X7011015 | TRAFFIC CONTROL AND PROTECTION L SUM 1 1
( EXPRESSWAY)
g REVISIONS ILLINOIS DEPARTMENT- OF TRANSPORTATION
> e SUMMARY OF QUANTITIES
4 Kev .

PLOT DATE: 3/307/2006




Rl

HIGH TENSION CABLE GUARDRAIL

STA. TO STA. DISCRIPTION TOTAL LENGTH (FT.)
75+51.25 T0 88+40 66 POST SPACES AT 20’ 1288.75
92+21.25 TO 142+70 254 POST SPACES AT 20’ 5048.75
146+90 TO 163498.75 87 POST SPACES AT 207 1708.75
TOTAL 8Q46.25

HIGH TENSION CABLE GUARDRAIL TERMINAL

F.A L TOTAL [SHEET
RTE. SECTION COUNTY o Ts| “NO.
55 | 2005-040 GRR WILL 18 9q

STA. TO STA.

FED. ROAD DIST. NO. 1 IILLINOISi FED. AID PROJECT

CONTRACT 60A1

1

REVISIONS

STA. TO STA. DISCRIPTION TOTAL LENGTH (FT.) | GRAND TOTAL LENGTH (FT.) | UNIT (EACH)

75+00 TO 75+18.75 3 POST SPACES AT 6-3" 18.75 SLos X

75+18.75 TO 75+51.25 5 POST SPACES AT 6&’-6” 32.5

88+40 TO 88-+58.75 3 POST SPACES AT 6'-3" 18.75 5105 1

88+58.75 TO 88+91.25 5 POST SPACES AT 6-6" 32.5

91+70 TO 91+88.75 3 POST SPACES AT 6'-3" 18.75 . 1

91+88.75 TO 92+21.25 5 POST SPACES AT 6'-6" 32.5

142+70 TO 142+88.75 3 POST SPACES AT 6'-3” 18.75 126 X

142+88.75 TO 143421.25 5 POST SPACES AT &'-6” 32.5 '

146+38.75 TO 146+57.5 3 POST SPACES AT 6&'-3" 18.75

146457.5 T0 146490 5 POST SPACES AT 6'-6" 32.5 °hes :

163+98.75 TO 164+17.5 3 POST SPACES AT 6/-3" 18.75

164+17.5 TO 164+50 5 POST SPACES AT 6'-6" 32.5 212 :
TOTAL 307.50 6

NAME

ILLINOIS DEPARTMENT OF TRANSPORTATION

INTERSTATE 55
SCHEDULE OF QUANTITIES

VERT.
: : NONE A
SCALE: HORIZ. DRAWN BY: HMO

CHECKED BY:

4/20/2006

c:BprojectsBdi272058sht_1-55cc-2.m32
VIE‘B[W & %

42000




FAL]  secTion CONTY | SO AL TSHEET

RTE. SHEETS
S5 2005-040 GRR WILL 18 5
STA. TO STA.
FED. ROAD DIST. N0. 1 [ILLINOIS | FED. AID PROJECT
CONTRACT  60AI1
ExisT,  EXIST. ) ¢ ¢ o ¢ , ) EXIST.  ExIsT.
R.O.W. L 10’ | 12 | 12’ E 6 121 40'&VARIES t 40’&VARIES |2 6" | 12’ | 12 l 10 | ] R.O.W.
| i
a | | B | | | | a
’ { i
~~~~~~~~~~ e ———— i l 4'%VARIABLE T ——— !
—————— T R S S =T [ S N oo~
R S R S -3 1Tt e————""" ] T T ——— —+ e ~ p
- | PRI [ | I e
:j | :
é | @
1-55
EXISTING TYPICAL CROSS SECTION
STA 75400 TO STA 164450
40'8&VARIES
ExIsT.  EXIST. ¢ , ¢ ¢ ) , ) EXIST.  ExIST.
R.OW. L 10’ | 12’ | 12’ | 6" 12/ A0'&VARIES l 2], e | iy | 12 ! 10 L R.OW.
I I
i I . | = l | ! ; 1
‘ H
__________ e ————— 4'8VARIABLE l 171 ‘ ISy Ll S L
s ————— e et . |
T~~~ ///// - T T ——=I ‘T\\\ lrflo | y L ‘11'" T - ‘L‘“:T\ — /////
\\\\\___—/’/// ! ~—— Rl i | \\\\-—~////
® 2
N ®
® © & 1o
1-55
EXISTING TYPICAL CROSS SECTION
LEGEND v STA 75+00 TO STA 164450
@ EXISTING 10" P.C.C. PAVEMENT
@ EXISTING P.C.C. SHOULDER
@ EXISTING AGGREGATE SHOULDER, 8"
@ PROPOSED HIGH TENSION CABLE GUARDRAIL SYSTEM
@ CONCRETE FOUNDATION - INCLUDED IN THE COST
OF THE APPLICABLE HIGH TENSION CABLE GUARDRAIL PAY ITEM
@ PROPOSED MOWING, (10° WIDE)
NE&E’ISK’NS SrTE ILLINOIS DEPARTMENT OF TRANSPORTATION
INTERSTATE 55
EXISTING AND PROPOSED
TYPICAL SECTION
SCALE : NONE DRAWN BY: HMO
3/23/2006 CHECKED BY:

3/29/2006
cifjprojectsBdl27205fsht 1-55c¢-2.m32

smanim




CONTRACT NO. 60A11

TOTAL {SHEET

. SECTION COUNTY SHEETS| “NO.
2005-040 GRR WILL 18 6

IMPROVEMENT BEGINS
STA 15+00

(TEL)
%)

PROPOSED HIGH TENSION CABLE |

MEDIAN BARRIER SYSTEM \ @ |:
@

CONC

WOCK ___
BEEER

e e e

Lo

]
o

I
[

of\pro jects\d127205\sht.1-5500-2.m32 -’

= 3/22/2006
PLOT SCALE = 62.802 */ IN.

= osmanhm

FILE NAME

{

ROCK-

AMOCO RD

/
I
i
!

I

1

i

|

!

t
|
!
|
!

STA. 75+00 TO STA. 83+00

FED. ROAD DIST. 0. . [ILLINOIS| FED. AID PROJECT

Sta 82+p7

MATCH LINE STA. 83+00

ILLINOIS DEPARTMENT OF TRANSPORTATION

FAL 55/ I-55
US 6 TO SOUTH OF I-80
EXISTING / PROPOSED ROADWAY PLAN

VERT. . o N
SCALE: HORIZ. =50 DRAWN BY: HMO
DATE 3/22/2006 CHECKED BY

PLOT DATE
USER NAME




= 3/22/2096

PLOT DATE

e\pro Jects\di27205\sht.1-5%c0~2.m32

PLOT SCALE = 60,008 '/ IN.

USER NAME

FILE NAME

*REF-topo0!

CONTRACT NO. 60All

= osmanhm

PROPOSED HIGH TENSION CABLE |
MEDIAN BARRIER SYSTEM !

R T

PAVED DITCH

R, section | county GRS
55 | 2005-040 GRR|  WILL 18 | 71
STA. 83+00 TO STA.98+00

FED. ROAD DIST. N0, |ILLINOIS| FED, AID PROJECT

— }}.&Mw

— x

— o
'y ;“*«M

SN

MATCH LINE STA. 83+00

@

- 3 — T T~ \
_}_./« ST T TN \
N .
ol .~ ~
e ~ /\r-xxﬂ\g‘)‘\

o

—— —_———— — = -

[ U -

! ~
: R =2

e e e e i T T e e A e e e e b e e e
___________________________________________________ Hzz=z=====al3
1 v .
] <
. i
- 8 z
k95400 ) E
2 A — — ——g5
1 =
Q
=
=<
He =
OVERHEA
SIGN_

REVISIONS
NAME

ILLINOIS DEPARTMENT OF TRANSPORTATION

FAI 55/ I-55
US 6 TO SQUTH OF I-80
EXISTING / PROPOSED ROADWAY PLAN

VERT. _, ., .
SCALE: HORIZ.l =50 ORAWN BY: HMO
DATE 3/22/2006 CHECKED BY




CONTRACT NO. 60A11

*REF-fopoQ2

—
1S .
wiQ| w
=
wv
Z
by I3
22 Q z <
=M EIE 2 5 z
ol S = o
o e = - >
i Qi < P}
S = > o
I O o
»1g m ol - o
1A 00+£11 "V1S INIT HOLYW £ LE £3
=P = Ty %) =
ZI5|Eld @ [ $SUEHZIT oS 10d z - E
Is] ©n | T < n
o 3 i [ I o non
olg | S N = [
=g : | il Ty
«© = { Loy L [Tt}
s o= I | S 329
3le ceee @ ee I i = n3e
2is s = o
e =} 1 w — O
Qilwlolx i Z <O
Hlolola ' w0
Sl +|B i o
Nle 2 \ M O\
. . 1 ui
Hulol < : = uoe
rdEE RPN ! N 5 ge
P41 o
|||||||| ~ H § (=] g [~
| | =z - W o
| . i = > 5T
| | s N i
| H i =1 w
Lo : 25
'~ | 1 w o
e ) H 4
r k i "
| ! b=
K A | <
2 _ o
N
N H
S
=
%
a
>t
s
i<
=
®
—
° Lo
e} [
jr i
[ |
|
|
!
!
I
i
i
_ 5
T |
|
J |
w = |
= ul
@ i
\ i
8¢ N L
Zo /
= - /
22 S 1od /
=&
me
K
o
2
b |
g j
o
i
|
[=]
—
Mn t o
HE
=
m
I
|
|
|
1
(o]
(e}
¥
w)
=
I 1
I
1
= -
= 1 g
=y | o
e
w %)
B 0
Pnal] =
It [ -
1
\
i
1
i
| i
i N
I i
| { :
| i 3
| | | /.
| /
|
|
WyURWSO = JWUN ¥3SN
NI /. @805 = WIS 101
/ 2EUZ-00GG-TIUS\GPZLZIP\6100M0adND = NN T
S : 90@2/22/€ = 3190 L0




b4 [
OiSi o
W=
| z o
giZx o |8 3 i E
sal = (8 E a P
=lex & < sz @
2 Q| = oXx -
o £l S o3 Z X
B, 1, 8l< 00+821 “V1S 3INIT a L5 8
8|3 81218 ! Ge Lenizl OIS 1od i 71 % ® 2 LS &35
Sz L6t Lo — < n
8l 2 j e ! Pl Epo=
2 E @ i il 1 ST
& 4‘ 1 __ il b | “ _m /_Hlu.rr_
. RIS . ,“ |1 ! | 1 — 50%
i g1gl s \ Lo ! j ﬁ ! g .05
i ~io 2 i i | b | o]
1 N I b ; i = (o4
i mwmm - . ; ; i | | = MTP
: SIn2 ! 1 1 ‘ ! i <
_I8[21g Loy m ! | ] o
il | < E | | - v (212]
, 8|5 g ° ol | | _ 5 g0
: - o i - ! b4 = o
} i 1 i (=} [l
| o U i i z 4 g2
o | ; | 3 % ==
byl ", ! | = A g
d, : | ! i M_M
I _, | | w3
[ i : { |
i m [ w
b I : P b=
“w { -1 f | (=]
[ 1 i I |
: I . 1 | 2
by ! b S
b b :
: I ” , o o
- ! 1 i 1 i~ wis
L ! of | . ol
! . ; 1 I =
IR BEAEN-
Ao b Sl I
R - phe by
ol ! PR
fealo o ; T
| Lo I : s [ ®
X,Jy NI “ N
— IR Il : ! S-S I
V orpo , o _m [ T
| . : ! .
ol RN |
IR ] ; Ploiely »
Corpo B R !
b ” bpign o !
; h, I ] : ; i : i
A : i N )
P oy H ] I : I !
D by o it : I ! W_ i
; y BT 1 [ i | ,
- ,MW PEoo ! {) !
o R M m_ |
1l 1 !
; ! !
/ , | )
, ! 1

'f

PROPOSED HIGH TENSION CABLE
MEDIAN BARRIER SYSTEM

i
; i
. |

|

|

[

I

|
: [

) : ,A
: o
: : i
| - Lo
& i P
H Lt " N‘ o
i ] . 4 4
Sl )8 8 3
4 o N1 <
i & ! L= =] =
X - C @ g
¢ @ : (=Y . [
' I — o =
! BGLEH AT 5
i I
1
; I
¥
: [
| [
i 1
. i
i .
f Il
I
1 [
; I

]

L

[

QO0+ET] *V1S 3INIT HOLVW

AREF-topo03

Wyuewso = ZWYN H3SN
NI /., 00@'8S = IWIS 107d
ZEWZ-00GG-TIYS\GIZLZIP\S3O8M0udNIO = JWUN 34
8982/22/¢ = 3180 LOd




*REF -topo04 CONTRACT NO. 60AIl1

o\projects\d127205\sht.1-55cc-2.m32

= 3/22/20068
= osmarhm

PLOT SCALE = 58.080 * 7/ IN.

PLOT DATE
FILE NAME
USER NAME

el secTION COUNTY | JOTAL TSHEET
55 | 2005-040 GRR WILL 18 10
STA. 128400 TO STA. 143400

FED. ROMD DIST. N0, |ILLINOIS| FED. AID PROJECT

PROPOSED HIGH TENSION CABLE
MEDIAN BARRIER SYSTEM | 7
\

MATCH LINE STA. 143+00

MATCH LINE STA. 128+00

@ 27N e, ® @
»l-al—i—x-—i—l—!v—x@x—-x-NQ«X--xi«wm’r’}——x—x—x—o—x—x—-x.«—x»-wx-vwr—---lr---K—--Q— PR

‘_‘—@—’n&zﬂezn‘_—n&_zm@m_q—@—h@w—xgxgxm

N Y N 4 ST T T T T T T T P T T T e,
AP N R eorerermrerey
i M /(T l T et
\ o BN Y ®
\ N\ ! o] AAARA RIS N b A NSNS AAS AP I AP DADIAINIAD PP AINIIIADII RIS I DI P ISSPI IR
\ N \ o ® o @
Ly SN ¢
|2 RN © CHANNAHON
Loy @ AN @
N o Ve ©
] N7 @
\k i s o VB
\

REVISIONS
NAME DATE ILLINOIS DEPARTMENT OF TRANSPORTATION

FAI 55/ I-55
US 6 TO SOUTH OF I-80
EXISTING / PROPOSED ROADWAY PLAN

VERT. _, .
SCALE: ooy 17250 DRAWN BY: HMO
DATE 3/22/2006 CHECKED BY




Si\projects\d127205\ sht.1-5500-2.m32

3/22/2008
PLOT SCALE = 50,088 '/ IN.

= osmanhm

PLOT. DATE
FILE NAME
USER NAME

*REF-fopo05 ) CONTRACT NO. 60A1l

P seoron [ oo | ST
55 | 2005-040 GRR|  WILL % | 1
STA. 143400 TO STA. 158-+00

FED. ROAD DIST. N0, [ILLINOIS| FED. AID PROJECT

MEDIAN BARRIER SYSTEM

i

i

i PROPOSED HIGH TENSION CABLE }__‘

z \ i
ROCK | M
i
|

ILLINOIS

R RS

PAvED )

CHANNAHON DITCH::

RIVERSIDE DR

s e e e e ey

PR

MATCH LINE STA. 158+00

1232000 e,

e ey S e ST =

MATCH LINE STA. 143+00

12/
LLTBIT T
BIT FAI 55

REVISIONS
NAME DATE ILLINOIS DEPARTMENT OF TRANSPORTATION

FAI 55/ I-55
US 6 TO SOUTH OF I-80
EXISTING / PROPOSED ROADWAY PLAN

VERT.
SCALE: HORIZ. DRAWN BY: HMO

DATE CHECKED BY




= 3/22/2006

o:\projects\di27285\sht.1-5500-2.m3%

PLOT SCALE = 52.208 ‘/ IN,

USER NAME

PLOT DATE
FILE NAME

= osmanhm

*REF-topo06

CONTRACT NO. 60A11

PROPOSED HIGH TENSION CABLE
MEDIAN BARRIER SYSTEM

—

IMPROVEMENT ENDS
STA 164450

\

i @ /:«::} B et
T PRI - R ’L,A?{ T

F.A. .| TOTAL | SHEET
\ RTE. SECTION COUNTY SHEETS| “NO.
55 | 2005-040 GRR|  WILL 18 | 12
STA. 158+00 TO STA. 173+00
ot FED. ROAD DIST. M0 [ILLINOIS| FED. AID PROJECT
=
\
\
;
i
j
;
i
;
,/,
X& @
P

SO e A == CHANNAHON

MATCH LINE STA. 158+00

i
o 7/
I \;#/
!
t ', 66"
- \CMP
@ ! \ ~
Lﬁ_______,,__J« \ Vel
s » oo
4 >
¥ :
© o
9 =
Q ——— o)
,,‘&TMA_,ﬁg
- 7]
\ IS
I v b
(=]
\% @ 8 ?
\ S s 170400 . PR e e
<
=
%)
w
z
-
x
O
=
<
4=

U0 YILSTHONIM

et

st st e
o)
¢ N
e oy
e
v !
il e ! \\
; ;
CREVISIONS ILLINOIS DEPARTMENT OF TRANSPORTATION
FAI 55/ I-55
US 6 TO SOUTH OF I-80
EXISTING / PROPOSED ROADWAY PLAN
VERT. .,
SCALE: HORIZ.] =50 DRAWN BY: HMQ
DATE 3/22/2006 CHECKED BY




CREATED: 03-23-95 CONTRACT NO. GOAll
e 1 sECTION county | JOTAL ISHEET
PARTIAL RAMP CLOSURE DETAILS SHOULDER CLOSURE DETAILS 55 | Zoos-thoar| whiie | (% |13
REFLECTIVE 150 (6) EDGE LINE ON| STA. T0 STA.
LOWER SLOPE OF WALL (LEFT EDGE T
FED. ROAD DIST. NO. NOIS | FED. AID
{ TOUOER YELLOW, RIGHT EDGE WHITE) s o PROJECT
— —_ —_ — — = — — — — _ _ _ _ _ = SHOULDER
_ - _ . = => = = > => =
= S - = SEE DETAIL A~ =>
SHOULOER = )\ e> S
b SHOULDER L R 7
O
OWED t N 12:1 MIN. TAPER
o WORK ALLOYER. ! SEE STANDARD 704001
NO_WORK
. — THIS AREA ! (TYPICAL)
o EQEEE~~A CONES AT 8.m (25)(22‘77%@5 T P 15 CLOSED OR 480 m (1600 300 m (10009 L/3 TAPER |30 m 100n
- —"OR DRUMS AT 15 ™ RIGHT LANE IS CLOSED T
o 200" DRUMS AT 15 m (50) CENTERS [DRUMS AT 30 m (100" CENTERS
| g
OR WHEN SPECIFIED INSTALL TEMPORARY CONCRETE
SHOULDER BARRIER WALL WITH BARRIER WALL REFLECTORS PER
TYPICAL ENTRANCE RAMP CLOSED TRAFFIC CONTROL AND PROTECTION (EXPRESSWAYS)
AHEAD
NARROW
RAMP
AHEAD -1t0)-48 PERMANENT SHOULDER CLOSURE
W 20-1
or ‘
. | .
SHOULDER SHOULDER | W 20-I101(0)-48 W 20-Ta(0)-48
= _ _ - = (SEE NOTE T)
= — - — — — — — — — — — — —= — ! !
= . e . . _ _ _ . . . => I SHOULDER T
=> o= => . . . =>
b b \ SHOULDER . = _ . o _ _ - _ ) . _ = .
> ) o>
150 m 80 m 36 m 42y my SHOULDER 000079 O |7 0 ©
‘ 500 o . min. b k o600 O A el 77 %A
L/3 TAPER
NARROW " . /3T .
RAMP CONES AT & m (25 CENTERS 150 m (500 ’ 150 m (500" ! L/3 TAPER | 150 m (5009 |
AHEAD OR DRUMS AT 15 m (50" CENTERS ' CONES OR DRUM AT
8 m (257 CENTERS CONES OR DRUMS AT 15 m (50" CENTERS
1
TYPICAL EXIT RAMP
sggg;ggR THIS DETAIL IS USED WHERE:
AHEAD 1. VEHICLES, EQUIPMENT, WORKERS OR THEIR ACTIVITIES
ENCROACH IN AN AREA CLOSER THAN 4.5 m (15" TO THE
EDGE OF PAVEMENT FOR A PERIOD IN EXCESS OF 15 MINUTES.
| W 20-10)-48 DAYTIME SHOULDER CLOSURE
SHOULDER SHOULDER H
_E? = J
J = - = -
—> >
SHOULDER
150 m S\__E0GE OF TRAFFIC LANE Zl_xz
S =0
(500" 3.6 , PN
L/3 TAPER ™ 42 min, Bg
o
ARRAY DESIGN PER Se S 2
, MANUFACTURER TO BE fi g
GRORGNS AT 15 m (507 CENTERS | NCHRP 350 COMPLIANT FOR =
POSTED SPEED. ;
SYMBOLS TYPICAL EXIT RAMP
U ' ' GENERAL NOTES
ARROWBOARD DETAIL A
1. THE “L” DISTANCE EQUALS: 5. THE IMPACT ATTENTUATOR, TEMPORARY IS NOT REQUIRED IMPACT ATTENTUATOR, TEMPORARY
. SPEED LIMIT FORMULAS WHEN THE TEMPORARY CONCRETE BARRIER WALL IS
~ V7] work area PROTECTED BY OR IS TIED INTO THE EXISTING GUARDRAIL. (SEE NOTE 5)
-~ Z 80 km/h (45 mph) (METRIC  ENOLISH IF OFFSET IS LESS THAN 5 FEET USE “TRAFFIC BARRIER
OR GREATER: L=0.65(0(S) L=Wi(S) TERMINAL, TYPE 11, TEMPORARY” DEVICE TO MEET NCHRP350
SIGN ON PORTABLE OR PERMANEN POR . ALL DIMENSIONS ARE IN MILLIMETERS (INCHES)
L € T SUPPORT W = WIDTH OF OFFSET IN METERS (FEET) FOR POSTED SPEED UNLESS OTHERWISE SHOWN.
S = NORMAL POSTED SPEED KM/H (MPH) ,
6. AUTHORIZATION FROM THE DISTRICT'S BUREAU OF TRAFFIC IS REVISIONS
§' © FLAGGER WITH CONTROL SIGN 2. PLASTIC DRUMS WITH HIGH PERFORMANCE REFLECTIVE SHEETING REQUIRED FOR ALL FREEWAY CLOSURES. NAME ILLINOIS DEPARTMENT OF TRANSPORTATION
Nz AND STEADY BURNING LIGHTS ARE REQUIRED FOR ALL NIGHTIME WS 11/96
N @  DRUM WITH MONO-DIRECTIONAL STEADY BURNING LIGHT CLOSURES. 7. THE FLAGGER AND FLAGGER SIGN ARE REQUIRED AT THE ABOVE i 563 TRAFFIC CONTROL DETAILS
| WORK SITES WHEN: NCHRP 350 04/03 FOR FREEWAY
N8gE
888 3. ALL SIGNS SHALL BE POST MOUNTED IF THE CLOSURE TIME a. FOUR OR MORE WORK VEHICLES ENTER THE TRAFFIC LANES JAF 3706
NN O CONES - 700 (28) IN HEIGHT EXCEEDS FOUR DAYS. IN A ONE HOUR PERIOD. SHOULDER CLOSURES ;
BED G b. THE WORK AVTIVITY REQUIRES FREQUENT ENCROACHMENT PARTIAL RAMP CLOSURES
wudy 4. FLASHING LIGHTS SHALL BE USED DURING THE HOURS OF DARKNESS INTO THE LANE OPEN TO TRAFFIC. DESIGNED BY: DWS
TR AND SHALL BE INSTALLED ABOVE THE FIRST TWO SETS OF SIGNS. THE FLAGGER SHALL BE STATIONED APPROXIMATELY 30 m (1007
Eure TO 60 m (2007 IN ADVANCE OF THE WORKERS. SCALE: NONE DRAWN BY
3454 DATE: 3/17/2006 CHECKED BY
TC-17

REVISION DATE:02/28/06

FECT G TR0 1090, 22 I User-osnany




8 | 7 | 6 ! 5 YI7 4 | 3 2 { 1

FAl TOTAL SHEET
RTE SECTION COUNTY SHEETS NO.
: 55 | 2005-040 GR WILL 18 14
(ngg&:g ggg?e%?éf Qé’éig?é“’é'?‘“ (CCT LENGTH OF NEED AT CASS CASS CABLE ANCHOR (CCA): ST = :
: 08T WN) FED. ROAD DIST. NO. JLLINOIS IFED, AID PROJECT 50"
- ' ; LON IS AT POST #4 (AS SHO CONTRACT NO. 60A11
DEPARTURE INSTALLATION; LON IS AT POST #8 (AS SHOWN) APPROACH INSTALLATION: |
g;/ APPROAGCH INSTALLATION: LON IS 12 PAST POST #4 DEPARTURE INSTALLATION: LONIS 170 FEET FROM POST #2 ) T-x‘)
o
2 < l —_— Y
—e 7 ¢ Lo > v — 1 5
o~ . E E G G
2 A A N |
= [ DIRECTION OF t f J
3 o TRAFFIC CASS-TL4 PLAN VIEW
- ©
51-3" NCHRP 350 TL-3 APPROVED CASS CABLE TERMINAL (CCT - PAYMENT EACH) PAY ITEM - CASS-TL4 SYSTEM - (PAYMENT LINEAR FEET) ) N : 20'-0" - PAY ITEM - CASS CABLE ANCHOR
(3) POST SPACES AT 63" = 189" (5) POST SPACES AT 6-6" = 326" . MAXIMUM 750 FEET BETWEEN CABLE SPLICES (MAXIMUM 1000 FEET FOR INSTALLATIONS USING PRE-STRETCHED CABLE) 50" 100" ) 100"
v =
oy &
n 30" ) 20-0"(TYPICAL UN.) o LINE POST NEAREST SPLICE MAY REQUIRE A 22" =
K r K r 1 SPECIAL SPLICE POST (SEE MANUFACTURER’S\EI & 2 8
1 p) 3 4 5 E @ il  PRODUCT MANUAL FOR DETAILS)
<P (; m
i F
- - - - - T - 7 T I T \SURNBUCKLESMAYBE | -t \ H EI_ 1 5
STAGGERED BETWEEN R ‘ E TYPICAL CASS-TL4 POST—"" | 2 l R_/ 1y 3
LINE POSTS. TYPICAL CASS-TL4 POST (SEE POST OPTION 4) © B12in . CONCRETE ANCHO
4) CCT-TL3 LINE POSTS (SEE POST OPTION 3) = @ (CCA TERMINAL)
g’)\gfgggﬁ&gé'ﬁosm o O eeT-mwe CABLE TENSION CHART (NEAREST 100 LB/R | JOTES: N
gé‘é?ég:;‘é-;"ﬁfgffgi 2 CASS-TL4 ELEVATION VIEW FAHRENHEIT | STD. CABLE | PRE-STRETCH| 1. CASS-TL4 HAS BEEN SUCCESSFULLY TESTED AT 20 FOOT POST SPAGING AND APPROVED
- DEGREES | LB/FORCE | LB/FORCE TO NATIONAL COOPERATIVE HIGHWAY RESEARCH PROGRAM REPORT 350 TEST LEVEL 4
(TYPICAL LAY-OUT) 15 8300 ~7500 | (NCHRP 350-TL4), CASS CABLE TERMINAL (CCT) HAS BEEN SUCCESSFULLY TESTED AND
= 500 =200 APPROVED TO NGHRP 350-TL3.
3¢ -
-] 5 8400 7100 2. IF CASS-TL4 IS INSTALLED ON THE NATIONAL HIGHWAY SYSTEM (NHS), AN NCHRP 350-TL3
{1/ ' Q 8200 7000 APPROVED TERMINAL (CCT) SHALL BE USED ON APPROACH AND DEPARTURE TERMINATIONS;
Az ——l BIRECTION OF 5 8000 5800 OR, A NON-NCHRP 350-TL3 ANCHOR (CCA) MAY BE USED ON APPROACH AND DEPARTURE
TRAFFIC n 7800 5560 TERMINATIONS IF THE ANCHOR IS LOCATED OUTSIDE THE CLEAR ZONE OR PROTECTED
BY OTHER MEANS (CRASHWORTHY BARRIER, TERMINALS, ETC.).
. REBAR ROD (2) PLACES, PLACED 15 7600 6500
- AT POST SLEEVE CORNERS FACING 20 7400 6300 3. CASS-TL4 SHALL BE INSTALLED ON SHOULDERS OR MEDIANS WITH SLOPES OF 6:1 OR
{ s ONCOMING TRAFFIC. 25 7200 6100 FLATTER WITHOUT OBSTRUCTIONS, DEPRESSIONS, ETC. THAT MAY SIGNIFICANTLY AFFECT
& T 3 30 7000 6000 THE STABILITY AN ERRANT VEHICLE.
% T 6800 5800
- ig 500 =500 4, CASS-TL4 POST SPACING MAY BE MODIFIED TO AVOID OBSTACLES THAT CONFLICT WITH THE G
A INSTALLATION OF CASS-TL4 LINE POSTS. NO POST SPACE CAN EXCEED THE MAXIMUM POST
St 10" CONCRETE FOOTING 25 5400 5500 SPAGE LINIT OF 200" ;
PIRECTION OF CAST IN PLACE OR PRE-CAST 50 5200 5300
TRAFFIC (BY OTHERS) 55 6000 5100 5. A CCT POST FOUNDATION MAY BE DRILLED THROUGH EXISTING PAVEMENT.
60 5800 5000
SECTION M-M = o0 4800 6.  REBAR RING AND REBAR RODS ARE NOT REQUIRED IF CASS-TL4 IS INSTALLED INA 3 FT
_— x — (MINIMUM) WIDTH MOW STRIP OF 6 IN. (MINIMUM) ASPHALT DEPTH OR 3 IN.(MINIMUM)
) 70 5400 46500 REINFORCED CONCRETE DEPTH. IF MINIMUM REQUIREMENTS ARENT MET CONTACT
°l 75 5200 4500 TRINITY INDUSTRIES TO DISCUSS FOOTINGS.
o 2nd HOLE 80 5000 4300
- e FROM TOP 4 85 4800 4100 7. CONSULT THE MANUFACTURER'S INSTALLATION MANUAL FOR ADDITIONAL INFORMATION,
- ¥ 4th HOLE Aa 90 4600 4000
ond HOLE @ H FROMTOP 4 2 6th HOLE 1 95 4400 3800 TRINITY HIGHWAY SAFETY PRODUCTS, INC.
FROMTOP & __n g FROM TOP 100 4200 3600 2525 STEMMONS FREEWAY
’é 6 X % 105 7000 3500 DALLAS, TX 75207
th HOLE 3
& gl e FROM TOP 3 1 3800 3% EMAIL: PRODUCT.INFO@TRIN.NET
6 6ih HOLE th HOLE = 10th HOLE F 10th HOLE 115 3600 3 PHONE: (800) 644-7976
& FROM TOP FROM TOP e FROM TOP & FROM TOP 120 3400 3000
iy I 5 125 3200 2800
= ? ? ALLOWABLE DEVIATION FROM CHART:
® 200 POUNDS/FORCE. No. CASS-TL4 POST OPTIONS
“ z z 1 |CCT - TERMINAL POST 1-9 - IN CONCRETE
ROUND LINE i /-GROUND LINE ?— /-GROUND LINE W l 2 |CCT - TERMINAL POST 1 -8 - WITH SPOIL PLATE
N
3 |GASS-TLA POST - IN CONCRETE B
= £ - "~
_* A= i— =_#, eﬁ' dﬁg, 4 |CASS-TL4 POST- DRIVEN
I M | i
w L H g w g | w i 2 .
= LH = % 3 = % 2 i £ %
w l o) x [ o b i I o o
w | i & N w o N '-'-' | | o] &
7 1 hrd I ] L x @ 1] g x
@ L] 5 5 4 L g 2 i w g
3 LIt 5 3 S 5 g 3 i m 3
@ 1853l 4 P P [ i o ||I | % o REVISION HISTORY
& @ 2 5 N 2 ~ i g T REV | DESCRIPTION | DATE T BY
i 5 % 8 2 iy 38 * 1 ADDED DRIVEN POST OPTION 322006 EAS.
i =|| N g < g ||I #; N 8 3| ADDED REBAR TERMINAL POST 48 | 3/6/2006 | EAS.
X y N
| _!H N Tt ik h o i{l_ _!H N Tl GALVSFEG,
"l H u 1.! J ﬂ CASS-TL4 lSHIPFlNG Wt
CABLE GUARDRAIL DR ¢ A 5] 12/2/2005
VIEW B-B VIEW C-C VIEWTD-D SAFETY SYSTEM
(POST 4-7) (POST 8) (POST 9) I —
(POST OPTION #1 SHOWN) (POST OPTION #1 SHOWN) (POST OPTION #1 SHOWN) T, ‘A' ;l;l(r;ilI)TL}’cl-.‘l'IgmAY SAFETY
i

8 T 7 I 3 - I 5 LP z 7] T 3 [ 2



8 | z 6 ]
8 g (S_Ij E m
™ 31/4" 2z mz
3
= iDIRECTION oF g 5
2-6" 158" TRAFFIC ; 4 § "
e— 2 W m
3 . ﬂ ] NOTE: & r S 12 18
»l B @1'-6" CONCRETE FOOTING b b #4 REBAR ROD (2) PLACES, PLACED g |18 2
2l R L CAST IN PLACE OR PRE-CAST o FOR LOCATION OF ~ h AT POST SLEEVE CORNERS FACING A8 o
N LOCK BOLTS ONCOMING TRAFFIC |
i I / =g ° ° SEE SHEET 1. . HEE
IER
/7»? A\ - : o ) b b ) E— // e .3
= 1 oA [
'—H ] i i 4 o B C- DIRECTION OF @1-0" CAST IN PLACE OR PRE-CAST Eie 3
7 5 TRAFFIC I——-—" CONCRETE FOOTING
N feoed
Qf” . 5 SECTION L-L 2 e
° X 5 1° A
- A
w0 Q
SECTION D-D g ) _ 5 "
. & i
3 -
(g «©
1 . ROUND LINE
00 = [ .
20 . 612 +— 8 B
& n >
o FAGE OF ; .
o § BRACKET 3 5| & .
g ey g—l % :
o [=] ~
= a8 i 3
iy ® &
NEE: T i =
5 2 I g 2 . .
" Il I| . ROUNDLINE &
i @ /_GROUND LINE Ig {l : /-G =
0
| = o
= 1
R o I Y Y Ly L 5=
®l 2 o o ° B 2 I
ol 8 A 1y oy z X fi i
K o =7 == 2] gl 5 & g
1 gl @ % Gl o] & iy m
198 : § S — < 18181 = P ity
i i i i g =t
it iEFF 8 CCT TERMINAL POST = 2 8 ==
i z (CCT POST 4) Z
2 dl 11} & (POST OPTION 2 SHOWN) H H 8 % H H <
g R B EY =
5 1l f;'@ VIEW J-J I I [
[ =] [/l i Il
et bl 1] uou ] u
> b3 .
bl % i1l T
3] = |
g ikl VIEW E-E
3 i (CASS-TL4 POST - IN CONCRETE)
& #I' Il (POST OPTION #3)
; i AN
_.‘—¢= -
il NE RN o
T el 5 9 & S s
I -
Ll R 35 .
o S = ® g
=il Tls &
o= T 2 ef & &
< N N
e o & g
/ s GROUND LIN
VIEW A-A i - i
(CABLE RELEASE POST 1-3)
DETAIL 1
6-3" \ 6-3" 5-3"
. Bl
b
t CASS-TL4 4
i T v — IGALV SPECT A
j ! i E CASS-TL4 SHIPPING WT:
@©
=| DIRECTION OF & CABLE GUARDRAIL DRW. £ A 5[ 1212/2008
TRAFFIC b VIEW G-G SAFETY SYSTEM e
(CASS-TL4 POST - DRIVEN)
VIEW K-K (POST OPTION #4) . TRINITY HIGHWAY SAFETY
(OFFSETS FROM CASS CENTERLINE) [Froi[cASs TLe N _PRODUCTS, INC.

{ 2 {

8 T 7 1 3 ! 5 4; 4 T 3



8 | 7 1 6 I Yl7 4 i 2
PARTS LIST CASS-TL4 CONCRETE POST ASSEMBLY PARTS LIST CASS-TL4 DRIVEN POST ASSEMBLY ! & TOTAL T SHEET : !
Q7Y |PART No|ITEM TITLE Tos / Each QTY [PART No|[TEM TITLE Tbs / Each RIE SECTIoN SOUNTY | SHEETS | NO.
i 1 |CONCRETE POST - CASS POST 264,40 T | 33957G] 1_|CASS-TL4 POST - DRIVEN 50.62 @\ 55 | 2005-040 GR WILL 18 16
| | 33954G] 2 |CASS-TL4 POST - CONCRETE 34.50 7 | B5707T| 2 |CASS-TL- POST STRAP 0.23 STA. STA.
1| 339688] 3 _|POST SLEEVE - CONGRETE POST 8.00 2 | 57038 3 [CASS-TL4 CABLE SPAGER 0.24 r — %ﬁﬁﬁgﬂjg B e e
2 | 5703B| 4_|CASS-TL4 CABLE SPACER 0.24) "
{ | 57088] 5 |SLEEVE COVER - CASS-TL POST, 0.11]
1 57077] 6 _|CASS-TL - POST STRAP 0.23 '
2| 6901B| 7 [#4 REBAR - SYSTEM POST 145 3/4" CABLE FIELD SPLICE - 5634G & 5635G
i 5747B] 7 |SLEEVE CAP - CASS-TL POST 0.14 (5634G SHOWN, 5635G SIMILAR)
| _5536B] 8 |CONCRETE REINFORCING RING 0.88
PARTS LIST - 5634G
QY [PART No|ITEM TITLE [bs / Each
1 7 |3/4" STUD FLATTENED - LH.T. 162
1 | _4190G] 2 |CABLE END CASTING 3.78 LEFT HANDED THREADED ROD
1 41998 3 [3/4" CABLE WEDGE (3x7) 0.08 SHOWN, RIGHT HANDED
1| 4355G] 4 |3/4" HEAVY SQUARE NUT (A663) 026 THREADED ROD PART No. -G
1 | 5 [3/4"CABLE 3x7) 1.08

1" CABLE FIELD SPLICE - 5908G & 5910G

(5909G SHOWN, 5910G SIMILAR)

ASSEMBLY VIEW - 5634G
{5634G SHOWN, 5635G SIMILAR)

PARTS LIST - 5910G
" o QTY [PART No{ITEM TITLE Lbs / Each
’ 3537G| 1 |1 STUD FLATTENED - L.H.T. 2.88
3022G| 2 . {1* CABLE END CASTING 0.56
1 3008G| 3 |1" HEAVY HEX NUT (A563 DH) 0.47 LEFT HANDED THREADED ROD
1 41998{ 4 [3/4" CABLE WEDGE (3x 7| 0.08
] 5 |3/4° CABLE (3 X 7) Bx7) SHOWN, RIGHT HANDED
3 \5 THREADED ROD PART No. 3536G
\_// 4 ASSEMBLY VIEW - 5909G
/ (5909G SHOWN, 5910G SIMILAR)
- CASS-TL4 POST - DRIVEN
/ (POST OPTION #4 - DRIVEN)
3/4" CABLE SPLICE - 5698G
(OPEN BODY STYLE)
PARTS LIST - 5698G
QTY {PART Nol|TEM TITLE Lbs / Each
1 5711G] 1 }3/4" TURNBUCKLE OPEN BODY STYLE 10.63
1 5634G] 2 [3/4".STUD ASSEMBLY LH.T. 5.74
\/ 1 5635G] 3 {3/4" STUD ASSEMBLY R.H.T. 5.74

CASS-TL4 POST - IN CONCRETE B =
(POST OPTION #3 - CAST IN PLACE) %
/

NOTES:

PRE-CAST CONCRETE POST ASSEMBLY

(POST OPTION #3 - PRE-CAST OPTION)

@\ 1" CABLE SPLICE - 5633G
(CLOSED BODY STYLE) IN LIEU OF BLACK SPACER 57038 SUPPLY YELLOW SPACER 57058 OR
i P WHITE SPACER 5706B. (AS REQUIRED PER PROJECT PLANS)
/® QTY [PART No] [TEM TITLE [bs / Each IF REQUIRED PER PROJECT PLANS SUPPLY:
1 5826G] 1 |1" CASS TURNBUCKLE CLOSED BODY STYLE 481 CABLE PULLING TOOL 58508
; q 5905G] 2 |1" 5TUD ASSEMBLY LH.T. 3.95 CABLE TENSIONING METER 58498 OR 58788
\—/ 1 59106] 3 |1" STUD ASSEMBLY R.H.T. 395 CABLE THERMOMETER 5709H

PARTS LIST - PRE-CAST CONCRETE FOOTING
QTY | PART No[ITEM} TITLE Lbs / Each lGALvSPEC:
1 CONCRETE POST - CASS POST 264.40 CASS-TL4 SHIPPING W1
1 339688 POST SLEEVE - CONCRETE POST 8.00 :
1 58368 CONGRETE REINFORCING RING 0.88 CABLE GUARDRAIL
4 58768 4 |#3 REEAR - CONCRETE FOOTING 0.82 SAFETY SYSTEM

. TRINITY HIGHWAY SAFETY
NP PRODUCTS, INC.
T

[ProdcASS-TL4




8 | 7 | 8 | 5 4 ! 3 | 2 i 1
PARTS LIST PARTS LIST PARTS LIST PARTS LIST PARTS LIST
&Y [PART No|ITEM TITLE Lbs / Each QTY | PART No|ITEM TILE Lbs / Each QTY |PART No|ITEM TILE Lbs / Each Q1Y [PART No|ITEM TITLE Lbs / Each QTY |[PART No|[TEM TITLE Tbs / Each
| 1 |CONCRETE FOOTING - CRP POST 127410 1 33936A] 1 |CRP-LOWER POST 178.57 1 1 |CONCRETE FOOTING - LINE POST 309.19 1 1 |CONCRETE FOOTING - LINE POST 309.19 1 33903A] 1 |350-TL3 TERMINAL POST w/ SOIL PLATE 42.25
i 33916B] 2 [REINFORCING CAGE - CRP POST 68.07] 1 133935A] 2 |CRP-UPPER POST 31.57 1 339086 2 {SLEEVE - TERMINAL LINE POST 20.90 1 33908G{ 2 |ISLEEVE - TERMINAL LINE POST 20.90 3 5825G] 6 |CABLE LOCK BOLT (A307) 0.12
|| 33934A] 3 |CRP - LOWER POST 51.80 1_| 33909G| 3 |CASS CABLE BRACKET 1.92) 1 5836B] 3 |GONCRETE REINFORCING RING 0.88 1 5836B] 3 |CONCRETE REINFORCING RING 0.88 3 | 3245G| 7 |5/16 DIA, HEX NUT (A563) 0.01
i 33935A] 4 |CRP-UPPER POST 31,57 2 3248G| 4 |5/16 HEXBOLT x 2" SSAE Gr.5) 0.06 1 33910G{ 4 |350-TL3 TERMINAL POST 28.63) 1 33955G| 4 [350-TL4 TERMINAL POST 32.42 2 4779G{ 3 |314 HEX BOLT x 4 1/2" (A325) 0.09
{ [ 33909G[ 5 _|CASS CABLE BRACKET 1.92 2 | 5631G] 5 _|5/16 FLAT WASHER (SAE Gr.5) 0.00 5839B| 5 _|SLEEVE COVER - 53 ANCHOR POST 0.11 1 5839B] 5 |SLEEVE COVER - 53 ANCHOR POST 0.1 2 | 0021G] 2 |BEARING ANGLE (A38) T 35
2 3248G] 6 [5/16 HEX BOLT x 2" (SAE Gr.5) 0.06 2 5832G] 6 |5/16 DIA. HEX NUT LS_»:A_E Gr.5) 0.01 5825G| 6 |CABLE LOCK BOLT (A307) 0.12] 3 5825G| 6 |CABLE LOCKBOLT (A307) 0.12 2 3701G] 4 |3/4 FLAT WASHER (F436) 0.01in
2. 5831G} 7 |5/16 FLAT WASHER (SAE Gr.5) 0.00 3245G) 7 5116 DIA. HEX NUT (A563) 0.01 3 3245G} 7 |5/16 DIA. HEX NUT (A563) 0.0 2 3711G] 5 3/4 HEX NUT (A194 2H) 0.0
2 5832G] 8 [5/16 DIA. HEX NUT (SAE Gr.5) 0.01 2 591981 8 |#4 REBAR -~ TERmNAL POST 1.78; 2 5919B] 8 [#4 REBAR - TERMINAL POST 1.78
R
£ A2
00, 3
8 |
) 21 (=l 12}
A " [=1Fi A
al 155
e |*
ey A

THM
ALNNOD

PR

81
EIEERS]
oarer)

103roYd aiv "@3d SIONITI

L
ON
133ES

\

\

Q| U o
ke R
N TERMINAL LINE POST - WITH SOIL PLATE

(CCT TERMINAL POST - 4) B

| \_/ (POST OPTION #2 SHOWN)
®\ \’L\ N— ‘

TERMINAL LINE POST - IN CONCRETE
(CCT TERMINAL POST4-7)
TERMINAL LINE POST - IN CONCRETE
CRP TERMINAL POST - DRIVEN (POST OPTION #1 SHOWN) “CCT TERMINAL POST 8- 9)
(CCT TERMINAL POST 1-3) (POST OPTION #1 SHOWN)
(POST OPTION #2 SHOWN)

N |

CRP TERMINAL POST - IN CONCRETE
(CCT TERMINAL POST 1 - 3)
(POST OPTION #1 SHOWN)

CASS-TL4
CABLE GUARDRAIL
SAFETY SYSTEM

. TRINITY HIGHWAY SAFETY :
[PROJJCASSTLA §p” PRODUCTS, INC. $S-740

8 T 7 1 8 | 5 4; 4 I 3 I 2 T 1 32904



8 { 7 i 6 1 5 Y}7 4 { 3 ] 2 | 1

FAf TOTAL SHEET
RTE SECTION. COUNTY ' SHEETS NO,
MIDDLE CABLE AT srao— —2005:040 GR WL 18 18
STA.
FAR SIDE QF POST FED. ROAD:DIST. NO: ILEINOIS (FED, AID PROJECT.
CONTRACT NO. 60AT1
. D
AT THE TRAFFIC APPROACH SIDE,
CLOSEST TO THE TRAVELED WAY:
INSTALL TOP & BOTTOM CABLE AT
THE NEAR SIDE OF THE POST.
-TRAFFIC FACE
NEAR SIDE
OF POST4
\-P T 1 WN
(c%s'r ERLnAL s P SPLICE ASSEMBLY - 5633G
IN GONGRETE) SHOWN (SEE SHEET 3 OF 5
\@ FOR TURNBUCKLE OPTIONS)
c

POST OPTION 3 SHOWN
(CASS-TL4 POST IN CONCRETE)

'OST OPTION 1 SHOWN
(CCT TERMINAL POST 1-3
IN CONCRETE)

B
PARTS LIST - CCA ANCHOR

QTY |PART No ITEM TITLE Lbs / Each

1 1 _JCONCRETE ANCHOR BLOCK 8011.20

3 2 |CONCRETE POST - CASS POST 264.40

1 | 33918A] 3 |CASS ANCHOR BRACKET 21.83

CASS-TL4 CABLE TERMINAL 3 | 33054G| 4 |CASS.TL4 POST - CONGRETE 34,50

(SHOWN WITH POST OPTION 1) 8 | 3700G| 5 _|3/4 FLAT WASHER (F844) 0.01

8 3710G] 6 _[3/4" HEX NUT (A563) 0.02

PARTS LIST - CCT TERMINAL 3 4902G| 7 [1"FLAT WASHER (F436) 0.01

QTY IPART No[ITEM TITLE Lbs / Each 6 4903G] 8 |1"HEX NUT (A184 2H) 0.04

6 1 _|CONCRETE FOOTING - LINE POST 309.19 8 5134G| 9 [3/4 DIA HOOK BOLT (A307) 4.39 -

3 CONCRETE FOOTING - CRP POST 127410 3 3867G| 10 |CCA - ANCHOR CABLE [25-0 30.9

3 33909G| 3 |CASS CABLE BRACKET 1.92 3 5633G| 11 _|FIELD SPLICE ASSEMBLY - 1" 12.78
4 | 33910G] 4 [3507L3 TERMINAL POST 28.63
3 | 33935A] 5 [CRP-UPPER POST 31.57
3 4802G| 6 |1"FLAT WASHER (F436) 0.01
6 4903G| 7 |1"HEX NUT ({A194 2H) 0.04
1 5817G| 8 ICRP - TOP CABLE ASSEMBLY [54-31 92.34
1 5818G] 9 [CRP - MIDDLE CABLE ASSEMBLY [48-07] 101.81
1 5819G] 10 [CRP - BOTTOM CABLE ASSEMBLY [41-9'] 83.04
6 5831G| 11 |5/16 FLAT WASHER (SAE Gr.5) 0.00
5 5832G]| 12 {5/16 DIA. HEX NUT (SAE Gr.5) 0.01

ASS-TL4
CASS-TL4 CABLE ANCHOR CABL?E gSATRDRAIL
(SHOWN WITH POST OPTION 1)
SAFETY SYSTEM
<. TRINITY HIGHWAY SAFETY
|PROJJCASS-TLA 9" PRODUCTS, INC.
i




	Text1: 6-16-06 Letting, Item 174


